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 Worksheet 

Class:  IV               Subject: Mathematics          Ch- 2 Addition and Subtraction 

Q1. Choose the correct option- 

   i) The sum of the greatest 3-digit number and the smallest 6-digit number   
is-                                                                                   

          a) 199000             b) 100999              c)  19999               d)999999 
  ii) The number that is 10000 more than 6,54,871 is -                           
          a) 6,55,871           b) 6,64,871           c)  6,54,971           d) 6,58,871    
  iii) 1 lakh - 100 thousands equal - 
          a) 10                     b) 100                   c) 1                        d) 0         
 
Q2.  Mr. Roy deposited ₹2,01,745 in a bank and ₹3,38,745 in another bank. 
        How much money did he deposit in total? 

 
 
 
 
 
 

 
Q3.  The difference between two numbers is 7194. If the bigger number is  
        65432, find the smaller number.               

 

        

 

  

 

 Q4. Form the smallest and the greatest 5 digit- numbers using the digits 7,3  

         and 5. What is their difference. 


